Omestion 5§

Fired the moment estimate 52 and the maxinm likelihood estimate 5° for the
unknown variance o7, assuming that the following data avise from a normal distri-
bution: 1.81, —6.48, 10T, —8.63, 524, ~4.07. 1.25, —2.07. (Choose two options. )

Cplions
A 447 B 812 C 52 02187
E 468 F 2083 @ 19,14 H 2212

Chuiresslion G

For the random vanable X following o chi-squared distribution with 29 desrees of
frecdom, choose from the following options the mean of X and the median of X
(Choose two options, )

{iatugns

A w3 B Tez f@h®m D s
E ms0  F M4 5 3 H

Questions T to 12 are based on material eovered in Chapter 7

Duestion T

Assuming that the following data arise from s samphe from 2 Poisson disteibilion,
fincd an exact 90% confidence interval for the snknown mean

B, BB B, T80T 18.5, 6010, 12
{lpisnres
A (6.90,9.06) B . [6.63,0.39) C (641,968 D (658, 9.25)
E (6.32,9.51) F (628 9.55) G (688 4.96) H (6.90,3.93)

Chaestion 5

Chogse from the followlng oplions an approgimate {ie, normal-based) 99% confi-
dence interval for a Poisson mean i based] o sample of size 25 with mean 724

(etaoms
A [B03,R.T5) B (6.05,8.55 C (582 8.50) Dx  {5:73,8:75)
E {494, 13.51) F {300 540 G (475 14.93) H (555, 863)

Chuestion &

In a sample of e 50 in which the subjects were independently selected from the
population of Brtish males in their 40, 36 were found to use spectackes e
nently, or for some purposes’. Use these data to find excact and approximate $0%
confidener intervals for the inderlying proportion of spectacle-wearers in the pel-
evant population. (Choose two options.)

{dpteaies

A {0L65,0.70) @m.ﬁu.u.ﬂd] C (067,077 D {60,080
E  {0058,0.54) F o062, 0.0 (G, (0.62,0.82) H {0, 0.80)




